Run 7629

2 | ndf
2500 = X 21.17 /18
B Constant 3340 + 20.3
— Mean -0.1299 + 0.0018
3000 — Sigma 0.2959 + 0.0025
2500 —
2000
1500 —
1000—
500 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
=) -15 -1 —0.5 0 0.5 1 1.5 2

uncVX



Run 7630

_ X2 [ ndf 18.83/18
4000 — Constant 3974 +22.1
— Mean -0.1317 £ 0.0017
3500 Sigma 0.295 + 0.002
3000 —
2500 —
2000 —
1500 —
1000 {—
500 —
O:IIII|ILI IIII|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



10000

8000

6000

4000

2000

Run 7636

X2 / ndf 25.89 /18
__ Constant 9623 + 34.3
— Mean -0.1337 £ 0.0011
- Sigma  0.3007 + 0.0015
I T LA A AN AN < VAN AT
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX




Run 7637

~ X? / ndf 14.3/19
800 = Constant 802.6 £ 9.7
— Mean —-0.1014 £ 0.0037
700 Sigma 0.3049 + 0.0049
600 —
500 —
400
300—
200—
100
O:IILI|III IIII|IIII|IIII|III|IJII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7644

_ X2 [ ndf 27.41/18
9000 f_ Constant 9077 + 33.4
— Mean -0.1303 + 0.0011
8000 — Sigma 0.2989 + 0.0015
7000
6000
5000 —
4000 —
3000 :—
2000
1000
O:IIIIIIIIIIII|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7653

_ X* [ ndf 15.42 /18
1600 Constant 1613 +14.1
u Mean —0.131+ 0.003
1400 — Sigma 0.296 + 0.004
1200 —
1000
800
600
400
200
O :I 11 | 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | 11l | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 7779

- X2 / ndf 16.36 /19
— Constant 5367 +25.0
5000 — Mean -0.1406 = 0.0015
B Sigma 0.3169 + 0.0021
4000 —
3000 —
2000|—
1000 |—
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
) -15 -1 —05 0 0.5 1 15 2

uncVX



Run 7780

— X? / ndf 11.27 /19
4500 f_ Constant 4649 + 23.2
- Mean —-0.1384 £ 0.0016
4000 — Sigma 0.3158 + 0.0022
3500
3000
2500 -
2000
1500
1000
500
05 e e

uncVX



Run 7781

3500 X? / ndf 19.94/19
- Constant 3338 £19.7
3000 M.ean —-0.1562 + 0.0019
u Sigma 0.3094 + 0.0025
2500 —
2000 —
1500 —
1000 —
500 —
O _I 11 | 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | 11 | 11 1 1 | 1 1 1 1
=2 -15 -1 -0.5 0 0.5 1 15 2

uncVX



Run 7782

X2 / ndf 23.3/19

800

— Constant 746 + 9.3

u Mean —-0.1402 + 0.0040
700— .

- Sigma 0.3133 + 0.0054
600 —
500 —
400 —
300(—
200—
100

O:IIIIIIL_IIIII|IIII|IIII|I)II|IIII|IIII

=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7786

X2 [ ndf 18.84 /19
Constant 204.8 £4.8
Mean -0.1664 £ 0.0078
Sigma 0.3195 + 0.0106

220

200

180
160
140
120
100
80
60
40
20

OIIIIIIII.—.IIII|IIII|IIII| II|IIII|IIII

-1.5 -1 -0.5 0 0.5 1 1.5 2
uncVX

|
N



Run 7795

%2 | ndf 16.05/ 19
5000|— Constant 5124 +24.4
- Mean 0.1442 + 0.0016
B Sigma 0.3161+ 0.0021
4000 |—
3000 —
2000 —
1000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
o 15 1 -05 0 05 1 15 2

uncVX



Run 7796

- X2 I ndf 15.32 /19
— Constant 5593 + 25.6
C Mean ~0.1437 + 0.0014
5000 Sigma 0.3101+ 0.0019
4000 |—
3000 —
2000 —
1000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
25 15 ) 05 0 0.5 1 15 2

uncVX



Run 7798

X2 / ndf 8.125/ 19
7000 — Constant 7030 + 28.7
N Mean —-0.1451+ 0.0013
6000 [— Sigma  0.3132 + 0.0018
5000 —
4000
3000 —
2000—
1000 —
O:IIIIIIIIIIII|IIII|IIII| II|IIII|IIII
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 7799

8000 X/ ndf 21.41/19
B Constant 7589 + 29.8
7000 — Mean -0.1501+ 0.0012
n Sigma 0.3109 £ 0.0017
6000 —
5000 —
4000 —
3000 —
2000|—
1000 —
O:IIII|III IIII|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7800

2
8000 — X2/ ndf 22.9/19
B Constant 7531+ 29.7
E Sigma 0.3072 £ 0.0016
6000 —
5000 —
4000 —
3000 {—
2000 —
1000 —
O:IIII|III IIII|IIII|IIII|IILlIIIIlIIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7801

X2 | ndf 22.58/19
B Constant 5461+ 25.4
5000 M_ean —-0.152 + 0.001
- Sigma  0.3074 + 0.0019
4000 —
3000 —
2000 |—
1000 |—
O _I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
=) -15 -1 05 0 0.5 1 15 2

uncVX



Run 7803

X2/ ndf 25.49/ 19
u Constant 6298 + 27.2
6000 —
- Mean -0.1422 £ 0.0013
B Sigma 0.3041+0.0017
5000 —
4000 —
3000
2000 —
1000 —
O B 11 1 1 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | 11 | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 7804

X2 [ ndf 36.31/19
- Constant 6.401e+04 + 8.682e+01
60000 — Mean -0.1425 + 0.0004
- Sigma 0.3057 + 0.0006
50000 —
40000
30000
20000
10000 —
O B 11 1 1 | 11 | 11 1 1 | 1 1 1 1 | 11 1 1 | 11 | | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 7805

_ x? / ndf 36.27 /19
B Constant 5570 £ 25.6
L Mean ~0.1413 + 0.0014
5000 — .
N Sigma 0.3044 + 0.0018
4000]—
3000 |—
2000 —
1000 |—
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
22 15 1 05 0 0.5 1 15 2

uncVX



Run 7807

_ X2 [ ndf 10.13/19
5000 ~ Constant 5127 + 24.6
u Mean —0.1465 + 0.0015
B Sigma 0.3073 + 0.0020
4000 —
3000 —
2000 —
1000 |—
O _I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
=) -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7947

X2 / ndf 25.73 /19
— Constant 4125+ 22.0
4000 —
B Mean  —0.09109 + 0.00169
— Sigma 0.3097 £ 0.0023
3500
3000
2500 —
2000 —
1500 —
1000 —
500 —
O:IIIIIIIIIIII|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7948

X2 / ndf 30.46 /18
70001 Constant 6859 + 28.8
- Mean  -0.06861+ 0.00134
6000 [— Sigma 0.3031% 0.0018
5000 —
4000 —
3000
2000
1000 —
O B 11 1 1 | 11 | 11 1 1 | 1 1 1 1 | 11 1 1 | 1 | | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 7949

— X2/ ndf 32.36/18
- Constant 7192 + 29.6
7000 —
- Mean  -0.07324 + 0.00127
- Sigma 0.2982 + 0.0017
6000 —
5000 —
4000 —
3000|—
2000 —
1000 —
O_IIIIIIIIIIII|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 15 2

uncVX



Run 7953

_ X2/ ndf 23.75 /17
B Constant 1298 + 12.8
1200 +— Mean —0.04985 + 0.00316
B Sigma 0.2978 = 0.0044
1000 —
800 —
600—
400—
200—
O _I | I | | | I I | | I I | | 1 1 1 1 | 1 1 1 1 | | | | I I | | 1 1 1 1
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7962

— x? I ndf 16.95/19
600 — Constant 570.6 £ 8.2
: Mean  —-0.08882 + 0.00434
- Sigma 0.2995 + 0.0056
500 —
400 :—
300 :—
200
100|—
O B | | | | | | | | | | | | | | | | | | | | | | | L1 | | | | | | | | | |
22 15 1 05 0 0.5 1 15 2

uncVX



Run 7963

_ X2/ ndf 20.39/18
~ +
2500 |— Constant 2509 + 17.6
— Mean -0.07461+ 0.00212
B Sigma 0.2969 + 0.0029
2000 —
1500 —
1000 —
500|—
O _I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-2 -15 -1 -0.5 0 0.5 1 15 2

uncVX



Run 7964

_ X2 / ndf 31.24 /18
- Constant 4196 + 22.7
4000 — Mean -0.07671+ 0.00162
- Sigma 0.2951 + 0.0022
3500 —
3000
2500 —
2000 —
1500 —
1000 —
500—
O:IIIIIIIIIIII|IIII|IIII| II|IIII|IIII
) -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7965

3000 — X2/ ndf 17.19/18
B Constant 2847 + 18.6
- Mean  -0.06331+ 0.00205
2500 — Sigma 0.2981+ 0.0027
2000 |—
1500 —
1000 —
500|—
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
25 15 ) 05 0 0.5 1 15 2

uncVX



Run 7966

X2/ ndf 21.08/18
60001— Constant 5866 + 26.7
- Mean  -0.07429 + 0.00141
5000 — Sigma 0.3 + 0.0
4000 —
3000
2000 :—
1000 :—
O B | | | | | | | | | | | | | | | | | | | | | | | L1 | | | | | | | | | |
22 15 ) 05 0 0.5 1 15 2

uncVX



Run 7968

X2/ ndf 23.53/18
B Constant 5700 + 26.4
B Mean -0.08984 + 0.00141
5000 — Sigma 0.2987 + 0.0019
4000 |—
3000 —
2000 —
1000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
25 15 1 05 0 0.5 1 15 2

uncVX



Run 7969

_ X2 / ndf 19.45 /18
800 Constant 776.8 +9.8
- Mean —0.087 = 0.004

700 = Sigma 0.2937 = 0.0050
600 —
500 —
400{—
300—
200—
100

O:IIIIIIIIIIII|IIII|IIII|J_II|IIII|IIII

=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7970

X2/ ndf 35.18/18
- Constant 6494 + 28.2
— - +
6000 Mean  -0.08572 +0.00132
- Sigma 0.2992 + 0.0018
5000 —
4000 —
3000 —
2000 —
1000 —
O B 11 1 1 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | 1 | | 11 1 1 | 1 1 1 1
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 7972

X2 / ndf 25.56 / 17
B Constant 5452 + 26.4
5000 — Mean 0.03459 + 0.00147
B Sigma 0.289 + 0.002
4000 —
3000 —
2000 —
1000 |—
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
22 15 ) 05 0 0.5 1 15 2

uncVX



Run 7976

2
1400 = X</ ndf 16.51/18
B Constant 1343+ 12.8
N Mean 0.02481+ 0.00288
1200 — Sigma 0.29 £ 0.00
1000 —
800—
600 —
400
200—
O B | | | | | | | L1 | | | | | | | | | | | | | | | | | | | | | | | | | |
22 15 1 -05 0 0.5 1 15 2

uncVX



Run 7982

X2 / ndf 19.94/18
1000— Constant 1008 + 11.1
- Mean 0.01276 £ 0.00329
~ Sigma 0.2918 + 0.0043
800—
600 —
400—
200—
O _I 11 1 | | I T L 1 1 | | | I I | | | I I | | (- | | I | | | I I |
-2 -1.5 -1 -0.5 0 0.5 1 15 2

uncVX



Run 7983

- X? I ndf 88.46 / 18
7000 :_ Constant 7142 £+ 29.4
- Mean 0.0189 + 0.0012
6000 Sigma  0.2896 + 0.0016
5000 —
4000 —
3000 —
2000 —
1000 —
O :I L1 1 L1 1 1 11 | | | | L1 1 1 | ] 1 | I I | | |
=2 -15 -1 -0.5 0 0.5 1 15 2

uncVX



Run 7984

2
8000 = X2 | ndf 41.68 /18
- Constant 7671+ 30.7
2000 - Mean 0.02453 + 0.00121
— Sigma 0.2902 £ 0.0015
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
o:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7985

_ X2 / ndf 74.31/18
u Constant 7515 + 30.2
7000 — Mean 0.02361+ 0.00123
_ Sigma 0.2934 + 0.0016
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 7986

3000

2500

2000

1500

1000

500

0

[N Y N AN S N B

X2/ ndf
Constant

Mean
Sigma

41.02/18
2974 £19.1

0.02903 + 0.00194
0.2897 + 0.0025

-2

-15

-1

|
D

0

0.5

1

1.5

2
uncVX




Run 7987

X2/ ndf 61.57 /18
B Constant 6529 + 28.3
5000 Mean 002155 £ 0.00132
- Sigma 0.2938 + 0.0017
5000 —
4000 —
3000 —
2000
1000 —
O B 11 1 1 11 1 1 11 | 1 1 1 1 | 11 1 1 | i | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 7988

2
4000 = X2 I ndf 35.52 /18
- Constant 3828 £ 21.6
3500 — M.ean 0.02887 + 0.00178
— Sigma 0.2967 + 0.0023
3000 —
2500—
2000 —
1500 —
1000 —
500 —
O:IIIIIIII II|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8025

X2/ ndf 10.92 /17
700 Constant 698.2 9.5
- Mean  —0.03745 + 0.00416
600 :_ Sigma 0.2862 + 0.0056
500 —
400
300
200
100
O_IIIIIIIJ_IIII|IIII|IIII| I_L|IIII|IIII
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 8026

2
1800 = X* / ndf 8.027 /17
n Constant 1703 + 14.8
1600 — Mean -0.013 % 0.002
- Sigma 0.2765 £ 0.0032
1400 —
1200
1000
800—
600—
400
200
O:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 8027

X2 I ndf 41.71 /17
7000
B Constant 6677 + 29.3
— Mean —0.006439 = 0.001275
6000 — Sigma 0.2811+ 0.0017
5000 —
4000 [—
3000
2000
1000—
O B L1 1 1 L1 1 1 | | | | L1 1 1 | 11 | I I | | |
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 8028

2
9000 = X / ndf 80.89 /17
— Constant 8621+ 33.3
8000 Mean  -0.007476 + 0.001111
- Sigma 0.2798 + 0.0015
7000
6000 —
5000 —
4000 —
3000
2000 —
1000 —
O:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8029

X2 I ndf 34.9/17
- Constant 7399 + 30.9
7000 Mean  -0.004479 + 0.001202
- Sigma 0.2791+ 0.0016
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O_IIIIIIIL II|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8030

x2 [ ndf 56.76 / 17
Constant 4624 + 24.4
Mean -0.0003575 + 0.0015330
Sigma 0.28 £ 0.00

4500

4000

3500

3000

2500

2000

1500

1000

500

OIIIIIIII II|IIII|IIII| II|IIII|IIII
-1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX

|
N



Run 8031

3500 = X2/ ndf 22.45/ 17
- Constant 3354 + 20.7
B Mean 0.0001003 + 0.0018214
3000 — S
B gma 0.2809 + 0.0024
2500 —
2000 —
1500 —
1000 —
500{—
O B 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | 1| | 11 1 1 | 1 1 1 1
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 8039

_ X2 / ndf 43.8/17
- Constant 6389 £ 28.6
6000 — Mean  -0.001139 + 0.001321
B Sigma 0.282 + 0.002
5000 —
4000 —
3000
2000 —
1000 —
O B 11 1 1 11 1 1 11 | 1 1 1 1 | 11 1 1 | 11 | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 8040

_ X2 / ndf 64.41 /17
B Constant 6260 = 28.4
6000 — Mean  -0.001814 + 0.001311
- Sigma 0.2792 +0.0017
5000 —
4000 —
3000
2000 —
1000 —
O B L1 1 1 L1 1 1 11 | | | | L1 1 1 | ] 1 | I I | | |
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8041

x2 / ndf 26.19/17
Constant 2147 + 16.6
Mean 0.001973 £ 0.002325
Sigma 0.2847 + 0.0031

2200

2000

1800
1600
1400
1200
1000
800
600
400
200

OIIIIIILI 11 III|IIII| II|IIII|IIII

|
-1.5 -1 -0.5 0 0.5 1 1.5 2
uncVX

|
N



Run 8043

x2 [ ndf 2417117
— Constant 5171+ 25.8
5000 Mean ~0.0008486 + 0.0014416
- Sigma 0.2782 + 0.0019
4000 —
3000 —
2000 —
1000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-2 -15 -1 -0.5 0 0.5 1 15 2

uncVX




Run 8044

X2 I ndf 51.75/17
Constant 4504 + 24.1
Mean -0.001753 + 0.001539
Sigma 0.2787 + 0.0020

4500

4000

3500

3000

2500

2000

1500

1000

500

OIIIIIIII III|IIII| JIlIIIIlIIII

|
-1.5 -1 -0.5 0 0.5 1 1.5 2
uncVX

|
N



Run 8045

_ X2 / ndf 16.4 /17
u Constant 6522 + 29.0
6000 — Mean —0.00866 = 0.00129
B Sigma 0.2809 + 0.0017
5000 —
4000 |—
3000—
2000 —
1000 —
O B 11 1 1 11 1 1 11 | 1 1 1 1 | 11 1 1 | 11 | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 8046

X2 I ndf 40.26 / 17
5000 - Constant 5151+ 25.7
~ Mean —-0.007298 = 0.001444
B Sigma 0.2805 + 0.0019
4000 —
3000 —
2000 —
1000 —
O_IIII|IIII II|IIII|IIII| II|IIII|IIII
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8047

X2 I ndf 27.09/18
1800 — Constant 1768 +14.8
- Mean —-0.0203 + 0.0024
1600 Sigma  0.2803 + 0.0030
1400
1200
1000
800 —
600 —
400 —
200—
O:IIIIIIII II|IIII|IIII|II_I|IIII|IIII
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



Run 8048

X2 I ndf 61.42 /17
7000 — Constant 7042 + 30.1
L Mean —0.009243 = 0.001220
Z Sigma 0.2788 + 0.0016
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O_IIIIIIII II|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 15 2

uncVX



Run 8049

X2 I ndf 22.51/17
1600 — Constant 1595 + 14.3
u Mean ~0.005006 * 0.002629
1400 — Sigma 0.2826 + 0.0035
1200 —
1000
800
600
400
200
O_IIIIIII4L II|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8051

X2 / ndf 23.5/17
Constant 2167 £ 16.7
Mean —0.00153 = 0.00224
Sigma 0.2799 £+ 0.0029

2200

2000

1800
1600
1400
1200
1000
800
600
400
200

OIIIIIIIIIIIIlIIIIlIIIIl 4L|IIII|IIII

-1.5 -1 -0.5 0 0.5 1 1.5 2
uncVX

|
N



Run 8055

— X2/ ndf 26.07 /16

- Constant 4152 + 23.6
4000 —

- Mean 0.02066 + 0.00167
3500 Sigma 0.2744 + 0.0022
3000
2500 [—

2000 —
1500 —
1000 —
500—
O:IIIIIIII |IIII|IIII| ILlIIIIlIIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8057

x2 / ndf 43.04 /17
Constant 7759 +31.5
Mean 0.004805 + 0.001193
Sigma 0.279 £ 0.002

8000

7000

6000

5000

4000

3000

2000

1000

OIIIIIIII I|IIII|IIII| II|IIII|IIII
-1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX

|
N



6000

5000

4000

3000

2000

1000

Run 8058

X2/ ndf 59.11/17
E Constant 6580 + 29.0
- Mean 0.00819 + 0.00131
~ Sigma 0.2807 + 0.0017
o i RS B R T R BRI
2 -1.5 -1 -0.5 0 0.5 1 15 2

uncVX




Run 8059

_ X2 I ndf 76.54 /17
8000 :_ Constant 8104 + 32.3
= Mean  -0.001531+ 0.001174
7000 Sigma 0.2828 + 0.0016
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O:IIIIIIII II|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



8000

7000

6000

5000

4000

3000

2000

1000

Run 8072

_ x2 / ndf 46.94 | 17
— Constant 8159 + 32.1
- Mean 0.01807 + 0.00122
- Sigma 0.2821+ 0.0015
S B A N B | SR IR B

2 -1.5 ) —0.5 0 0.5 1 1.5 2

uncVX




Run 8073

X2 I ndf 35/17
B Constant 2699 + 18.6
2500 . Mean -0.001085 + 0.001954
n Sigma 0.2757 + 0.0025
2000|—
1500 |—
1000 —
500
o B | | | | | | | | | | | | | | | | | | | | 1 Ll | | | | | | | | |
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8074

2
6000 — X2 I ndf 39.56 /17
B Constant 5696 * 27.1
- Mean  0.006188 + 0.001403
5000 Sigma 0.2801+ 0.0018
4000|—
3000(—
2000 |—
1000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
25 15 21 05 0 0.5 1 15 2

uncVX



Run 8075

X2 I ndf 25.93/17
B Constant 2740 + 18.7
25001— Mean —0.004867 + 0.002024
- Sigma 0.2838 + 0.0027
2000—
1500|—
1000 —
500|—
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8077

X2 / ndf 40.87 /17
4500 — Constant 4472 + 23.8
- Mean 0.01102 + 0.00163
4000 — .
— Sigma 0.2831+ 0.0021
3500 —
3000
2500
2000
1500 —
1000 —
500
O:IIIIIIII I|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8085

X2/ ndf 67.1/17
— Constant 5406 + 26.4
5000 — Mean 0.04395 + 0.00144
B Sigma 0.2815 + 0.0019
4000 |
3000 —
2000—
1000—
O_Illllllll |IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8086

— X2 / ndf 70.47 [ 17
8000 — Constant 7878 + 31.6
- Mean 0.0598 + 0.0013
7000 — Sigma  0.2894 + 0.0017
6000 —
5000 —
4000 [—
3000 —
2000 —
1000 —
O:IIIIIIII I|IIII|IIII| I|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8087

_ X2 / ndf 45.43 /17
8000 — Constant 8016 + 31.9
- Mean 0.03963 + 0.00124
7000 — Sigma 0.2912 + 0.0017
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O:IIIIIIII I|IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8088

2
2500 — x4/ ndf 4581/ 17
B Constant 2364 +17.4
L Mean 0.07413 £ 0.00219
~ Sigma 0.2856 + 0.0029
2000 —
1500 —
1000 —
500—
O _I 1 1 | | 1 1 1 1 | | 1 1 1 1 | | | | | 1 | | | | | 1 1 1 1
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8090

2
3000 = X</ ndf 35.31/18
B Constant 2821+ 18.7
- Mean 0.02246 + 0.00195
2500 — Sigma 0.2877 + 0.0025
2000|—
1500 —
1000 —
500 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
25 15 ] 05 0 0.5 1 15 2

uncVX



Run 8092

x2 / ndf 45.21 /17

— Constant 8167 £ 32.2
8000 —

- Mean  0.007897 + 0.001263
2000 f— Sigma 0.2931+ 0.0017
6000 —

5000 —

4000 —

3000 —

2000 —

1000 —
O:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -15 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8094

x2 / ndf 68.23 /17
— Constant 7453 + 30.9
7000 — Mean  0.003567 +0.001296
- Sigma 0.2914 + 0.0018
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
o:IIIIIIIIIIII|IIII|IIII| LI|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8095

_ X2 / ndf 52.36 / 17
70001— Constant 6901+ 29.6
n Mean  0.008054 + 0.001351
6000 — Sigma 0.2908 + 0.0018
5000 —
4000 —
3000 —
2000 —
1000
O B 11 1 1 11 1 1 | 1 1 1 1 | 11 1 1 | | | 11 1 1 | 1 1 1 1
=2 -15 -1  -05 0 0.5 1 15 2

uncVX



Run 8096

x2 / ndf 50.11/17
7000 — Constant 6940 + 29.7
- Mean  0.006138 + 0.001377
6000 __ Sigma 0.2949 + 0.0019
5000 —
4000 —
3000—
2000|—
1000 —
O _I 11 | 11 1 1 | 1 1 1 1 | 11 1 1 | 1| | 11 1 1 | 1 1 1 1
=2 -15 -1 -05 0 0.5 1 15 2

uncVX



8000

7000

6000

5000

4000

3000

2000

1000

Run 8097

92.51/18
7799 £ 31.0

_ x2 / ndf

:_ Constant

- Mean  0.007404 + 0.001197
— Sigma 0.2957 + 0.0016
T AT AN AN IR L ST I BT

2 -15 -1 -0.5 0 0.5 1 1.5 2

uncVX




Run 8098

2
8000 = X° [ ndf 4455/ 17
_ Constant 7574 + 30.9
2000 Mean  0.004088 + 0.001325
— Sigma 0.2965 + 0.0018
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
O:IIIIIIII |IIII|IIII| II|IIII|IIII
=2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



Run 8099

X2 [ ndf 78.24 /18
: Constant 1.083e+04 + 3.645e+01
10000 — Mean 0.00515 + 0.00101
B Sigma 0.294 + 0.001
8000 —
6000 —
4000 —
2000 —
O B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

uncVX



uncVX

e L
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uncVX

w
w

_lllII|IIII|I¢‘L_IIII|IIII|IIII|I

Fitted Sigma [rym]
= .
N
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